inf- 1= SetOptions[Plot3D(xOr whichever plot you desirex),
ColorFunction - "Rainbow"(*One of many options#)];

(1)
outf» ]= 1

inf- - PLot3D[ArcSin[x + y] + ArcTan[x+y]l+x*y, {x, -4, 4}, {y, -4, 4}, BoxRatios » Automatic]
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Outf« =




2 | grafy.nb

RegionPlot[FunctionDomain[ArcSin[x +y]+ArcTan[x+yl+x*y, {x, y},
{x, -4, 4}, {y, -4, 4}, AspectRatio - Automatic]
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grafy.nb | 3

inf- - Plot3D[Log[x / (Abs[x] - Abs[y])], {x, -4, 4}, {y, -4, 4}, BoxRatios = Automatiic]
1
- Power: Infinite expression — encountered.
0.

1
- Power: Infinite expression = encountered.
0.

1
- Power: Infinite expression — encountered.
0.

- General: Further output of Power::infy will be suppressed during this calculation.

Out[* ]J=




4 | grafy.nb

RegionPlot[FunctionDomain[Log[x/ (Abs[x] - Abs[y])], {x, y}I,
{x, -4, 4}, {y, -4, 4}, AspectRatio - Automatic]
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inf- - Plot3D[Sqrt[x*y -y A3 +2yAr2], {x, -4, 4}, {y, -4, 4}, BoxRatios - Automatiic]
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outf* J=




grafy.nb | 5

RegionPlot[FunctionDomain[Sqrt[x*y -y*3+2y"2], {x, y}],
{x, -4, 4}, {y, -4, 4}, AspectRatio - Automatic]
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inf- = PLot3D[ArcSin[Sqrt[x = (x + y)1I, {x, -4, 4}, {y, -4, 4}, BoxRatios » Automatic]

15
ouff+ = 1.0




6 | grafy.nb

RegionPlot[FunctionDomain[ArcSin[Sqrt[x = (x+y)ll, {x, y}]I,
{x, -2, 2}, {y, -2, 2}, AspectRatio - Automatic]
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grafy.nb | 7

Inf+ J= (%2%)

Plot3D[(x-y)/ (x+Yy), {x, -4, 4}, {y, -4, 4}, BoxRatios = Automatic]




8 | grafy.nb

inf- = Plot3D[5 (x* 2%y "r2)/ (x*2*xyAr2+(x-y)*2), {x, -4, 4}, {y, -4, 4}, BoxRatios - Automatic]

Out[* ]J=

4

inf- = PLot3D[(x +y) * Sin[1/ x] = Sin[1/ y], {x, -4, 4}, {y, -4, 4}, BoxRatios » Automat-ic]

out* J=




grafy.nb | 9

inf- = Plot3D[(x*2-y*2)/ (x*2-3y+3x-x*Yy), {x, -4, 4}, {y, -4, 4}, BoxRatios - Automatic]

1
Power: Infinite expression — encountered.
0.

Infinity : Indeterminate expression 0. ComplexInfinity encountered.

4

2
0
-2
-4

R

outf J=

-2

-4 2 0 5 .




10 | grafy.nb

[ = PLot3D[(Exp[(Abs[x] + (y —=2)*2) y])/ (Abs[x] +(y - 2)*2),
{x, -4, 4}, {y, -4, 4}, BoxRatios » {1, 1, 1}]
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Outf« =




grafy.nb | 1

—4)A2-yA2))
- Plot3D[(Tan[Sqrt[(x —4)*2 -y A2]])/ (x "2 % Sqrt[(x - 4) y ,
o {x, -4, 4}, {y, -4, 4}, BoxRatios = {1, 1, 1}]
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